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1. 'X�Y}ñ, v/bN (0, 1)5µ��5½O(i) X/Y , (ii) X/(X + Y )�5µ, ¼

�h
£×ð�5µ, ¬��¢ó�

2. 'Y |NbB(N, p)5µ, N |ΛbP (Λ)5µ, vΛbΓ(α, β)5µ, Í�α
ÑJó��
OY�&f�5µ, ¼�h
£×ð�5µ, ¬��¢ó�

3. '(X, Y )�Ð)p.d.f. 


f(x, y) =
1

2
x3e−x(1+y), x, y > 0�

�O

(i) fX(x);

(ii) fY (y);

(iii) Y |X = x�5µ, x > 0, ¼�h
£×ð�5µ, ¬��¢ó;

(iv) X|Y = y�5µ, y > 0, ¼�h
£×ð�5µ, ¬��¢ó�

4. '(X, Y )�Ð)p.d.f. 
f(x, y) = 24xy, x, y ≥ 0, x + y ≤ 1��O

(i) Cov(X,Y );

(ii) ρ(X, Y );

(iii) Var(2X − 3Y );

(iv) Cov(2X + 3Y,X − 2Y )�

5. '(X1, X2, X3, X4)�Ð)p.d.f.


f(x1, x2, x3, x4) = 24e−x1−x2−x3−x4 , 0 < x1 < x2 < x3 < x4�

�U1 = X1, U2 = X2 −X1, U3 = X3 −X2, U4 = X4 −X3�

(i) �O(U1, U2, U3, U4)�Ð)p.d.f.;

(ii) 5½��U1, U2, U3, U4�5µ;

(iii) �OCov(U1 + U2 + U3, U2 + U3 + U4);

(iv) �OVar(4U1 + 3U3 + 2U2 + U4)�


